
P(x)
Q(x) ; P(x) = 5.727×−20833.3

(x−0.02) + 5.544×83333.3
(x−0.04) + 5.45×−145833

(x−0.06) + 5.351×166667
(x−0.08) +

5.253×−166667
(x−0.1) + 5.157×166667

(x−0.12) + 5.058×−166667
(x−0.14) + 4.96×161458

(x−0.16) + 4.862×−133333
(x−0.18) + 4.762×70312.5

(x−0.2) +
4.563×−26041.7

(x−0.24) + 4.36×21354.2
(x−0.28) + 4.1584×−20833.3

(x−0.32) + 3.9463×20833.3
(x−0.36) + 3.736×−20833.3

(x−0.4) +
3.5429×20833.3

(x−0.44) + 3.3797×−20833.3
(x−0.48) + 3.2417×20182.3

(x−0.52) + 3.1209×−16666.7
(x−0.56) + 3.0138×8789.06

(x−0.6) +
2.8342×−3255.21

(x−0.68) + 2.6881×2669.27
(x−0.76) + 2.5662×−2604.17

(x−0.84) + 2.4242×2604.17
(x−0.92) + 2.3766×−2604.17

(x−1) +
2.3058×2604.17

(x−1.08) + 2.2458×−2604.17
(x−1.16) + 2.2035×2604.17

(x−1.24) + 2.1661×−2522.79
(x−1.32) + 2.135×2083.33

(x−1.4) +
2.109×−1098.63

(x−1.48) + 2.0697×406.901
(x−1.64) + 2.0466×−333.659

(x−1.8) + 2.0325×325.521
(x−1.96) + 2.0288×−325.521

(x−2.12) +
2.0292×325.521

(x−2.28) + 2.0228×−325.521
(x−2.44) + 2.0124×325.521

(x−2.6) + 2.0065×−325.521
(x−2.76) + 2.0031×325.521

(x−2.92) +
2.0015×−325.521

(x−3.08) + 2.0008×325.521
(x−3.24) + 2.0004×−284.831

(x−3.4) + 2.0002×162.76
(x−3.56) + 2.0001×−40.6901

(x−3.72) ∧

Q(x) = 5.727
(x−0.02) +

5.544
(x−0.04) +

5.45
(x−0.06) +

5.351
(x−0.08) +

5.253
(x−0.1) +

5.157
(x−0.12) +

5.058
(x−0.14) +

4.96
(x−0.16) +

4.862
(x−0.18) +

4.762
(x−0.2) +

4.563
(x−0.24) +

4.36
(x−0.28) +

4.1584
(x−0.32) +

3.9463
(x−0.36) +

3.736
(x−0.4) +

3.5429
(x−0.44) +

3.3797
(x−0.48) +

3.2417
(x−0.52) +

3.1209
(x−0.56) +

3.0138
(x−0.6) +

2.8342
(x−0.68) +

2.6881
(x−0.76) +

2.5662
(x−0.84) +

2.4242
(x−0.92) +

2.3766
(x−1) +

2.3058
(x−1.08) +

2.2458
(x−1.16) +

2.2035
(x−1.24) +

2.1661
(x−1.32) +

2.135
(x−1.4) +

2.109
(x−1.48) +

2.0697
(x−1.64) +

2.0466
(x−1.8) +

2.0325
(x−1.96) +

2.0288
(x−2.12) +

2.0292
(x−2.28) +

2.0228
(x−2.44) +

2.0124
(x−2.6) +

2.0065
(x−2.76) +

2.0031
(x−2.92) +

2.0015
(x−3.08) +

2.0008
(x−3.24) +

2.0004
(x−3.4) +

2.0002
(x−3.56) +

2.0001
(x−3.72)


